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=N X

01 2IEXIEE X 4,000,000 3,000,000 1,000,000
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=X
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= H
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O L2028 =)ty HeHED &3 20,000,0002! * 6= * 50/100 60,000
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= H

FTAES oA HIIMdEM K& 33,825 22,750 11,075
6,765

H
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Al 27,060
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= 36,000
Al 84,000
01 AR =EX 120,000 150,000 £30,000
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O FTA THS THAI D4 ZSHAS 240,000,0002! * 14! * 50/100 120,000
= 36,000
Al 84,000
FTAAMS I 2222 22 I X & 10,000 9,000 1,000
p] 10,000
201 Uiy 2,000 2,000 0
p] 2,000
01 AlR2telt 2,000 2,000 0
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O SX20 EMA= &x At 15,000,000& = 6ha * 50/100 45,000
405 &k SH 600 0 600
01 XL SSFSHI 600 0 600
O ASHALEN XLt 2 600,0002! * 17} 600
LAEXRIELENE 255,000 384,200 A 129,200
= 51,000
Al 204,000
402 2I2H X =01 & 255,000 384,200 A 129,200
= 51,000
Al 204,000
01 QA GEEX 255,000 384,200 A 129,200
O SHIEZEAIY 255,000
O ASESSHT 510,000,002 * 141 * 50/100 255,000
= 51,000
Al 204,000
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